The IR ghe] 20i 4 Foll A

31 x 11° o] oFg i Zof A4
2 2

st gk At 5 st depaey, | 2 XA | 16

192 g 7R ol 33| 2x3 | 3ar
3’ x11 121 3’ x11°

3'x11 11 3x11

3x11°

@ 7 @ v ®c

@@= @)n
€5 )

3t ofpe1,3,32,3%, 30 0l 11° 9 oFp= 1, 11, 102
, 113, 114, 11° o]t}

O 2ELS AQSHS|EHH 16 =24, 121 = 112,33 =3 x 11
o|t.

3tx 115 9] 942 L glo} sty Tk ot 2t

3'x 11 1 3x11
3*x 117 16 3x11°

33 2x3 | 8'x1r’
3*x11 121 3°x11°




® AYzle] 348 5249] 9 2% g1,

2 o|t},

2 o Augre
3
@)= e572e adgol

@ 2

~&B

BEEERE

@® Adigko] 0.3 Q1 &= 0.3 I -0.3 o[t}

@ Agzte] 7

o}

i
i~

Sy
X o
.ATQ%S
r

& K
W

55

X

Mo
,,Am_mq./,_okoo
® @




Ton

7__7_10
3

b

)

® 6

23
2

@ 3




4. Al F2x7?,22x7x11,5x112 9 HAFu5=?

® 2x5x7x11 @ 22x3x7x112
@ 22x5x7?x11x%x13 @22x5x72x112

® 22x52x73x112

Al 2] FaFHlaE 2% x5 x 72 x 112 o,




(¢}

=

T =4 w2

oo
i
rlo

208F 27H)

§i

O H™igto] 21 Ro7F thE 7 49 92 0 o|th
@x>0, y<0 o, x>y o]t
(@)—’F@G‘ioﬂ/ﬂ &0 2 Zp5 Auigho] ottt

@ 0 9] FHg2 0 ot

® -5 o AL 2

=

*
rlo

x

el

I
2
e

o},

=

S8
O H™igto] 21 R57 & F 49] 32 0 o|t}.

A& Eof 29t 2 AYiglo] T KISt opE &=

T 4=0] ghe ¢ o] Hrt.

@ x>0, y<0O|HA |x| <yl ] AE ] EA}.

AE EojA x =3, y=—4 &1 I} |4 < |yl 7} A A3

JBBER x>0, y<0°]Fa A x> |yl & AL ofth.
259 AS, FARANA AFo g A2 L7} Zopx| 2|t

Adigre AR

@ 0 o AHZLL 0 Sff#olc),

® -5 o] AYigh2 5 o[t} o|et T2 L7t =2 A lef EAgITY.




6.

U S Aarer 23te] duigho] 71 22 A2

@ (4+9) - (+11) @ (-8)-(-5) ® (+8)—(-14)
@(—15)—(—15) ® 0-(-18)

B

@® -2

@ -3

® 22

@0

® 18

A4rer Auto] Ahigho] 7MY &2 = @ ot







524 9191 A A, B, C, D, E 7} Uehlis 52 87 958 227

A B C D E
-4 -3 -2 -1 0 1 2 3 4

© A A7} bk Fe -3 ol

@ A B} bl B - oI,

® #e42 Uehlls de m5 57olc
@) 20l 342 epie B 25 27 o]t

® 4 A7 UERE 49 A B2 YRl 40] Agighe] 2o,




= Agigho] T B o7} ghfiQl f=olt}. g 7} b HT} 24

®4 @u 02 @+ O

Ao 2RE 22 Ago] Y, A7t 24, a < b O|ER
a=-12,b=12°|c},
ok a + b =0 ot}

= AL 0]
T TT T




lal =5, 1bl=8 E ™, a-b 2] 3T AW M, 572 m ol
o, M-m 9 F2?

D -10 @ -26 ® 0 @26 ® 10

B ‘
la =5 °|B& a = +5, -5

b =8 O|E& p = 48, -8

a-b 9 2 oha3} Zrt

a=+45,b=4+82 1, (+5) - (+8) = -3

a=+5, b=-82 1, (+5) - (-8)
a=-5 b=+8%Y o, (-5) - (+8) =-13
a=-5 b=-8Y T, (-5) - (-8) = +3
L M=13, m=-13

 M—-—m=26




11.

1 1

[u—y
—_
—_




Az

2~
s

(B71)9] Adtel A @, @, @l o164 At §Z ol

-120 4 (-4) + (-6)
=-120+ {(-4)+ (-6)} @

=-130

[e)

={(-3)+ (-7)} x 12+ (-4) +

12. o

—;

ol

X

G
oy
B!

jans
i

Ton

—

ol

—

—

ol




13.

oF 0l 47} 12 491 7P A AQ5E FokH?

O 12 @ 18 ® 24 @ 36

12=2x2x3°|E&
1+1)x(1+1)x(2+1)°l4 22x3x5 =060




mah

29

14. T4 23x3x7x 11,60 9 FFr-E9]

@xs @3 048 @5 O«

23 x3xT?x11 7 60 =22x3x5 9 HgFoFr-=22x3
whabA] T 0] Fokp= 92 x 3 9] ool
ZFo] 7 &= 0] FoFp o] GRS 14 243+2242x3+22x3 =28




15. oH A4S 52 Lrwl 3 0] ¥, 6 02 w4 /b i, 7
e 5 7 etk g oleld 2AS BEshe Aads FolA
Vg AR 4

@® 207 @ 208 ® 209 @ 210 ® 211

56,7 2 UFH g4 2 7F RESIEE JLot= € x 2 ofH
x+2 < 5,679 FHjgoltt,

5,6,7 9 HAFH|SE 210 o] B2 210 o] vl F 7}
21 910 oo},

WA x4 2 = 210 © |2 & x = 208 o]t}

o5l
X
rlo




16. Of® §ei%of — & cloky © & sof shie] | 5 W -

BU —1.125 7} uhgiek BEE A AR 2 e

o5 0 O3 o5 O

& o3

ool w

| ©

3
32 3_ 27
24 24 24

2T 32 9 14 7

sh2 A A Ak
7 (4)_3_14—32—9_ 9
12 -

3

8 24 3




1
EFA) =1-3x{5-(1+1}
1
=1--x(5-2

3 x(6-2)

1
=1-5x3

3)(
=1-1=0




Tate

@ -

98
25

® -2

24.5
100

98
25

Ha o2t 2t

9|

:[L

=
=
2.5 = -5 o|t},

Slo] axbxc

SRl

a.

o

><10><
7

>><2.5><a:—3.5><a o]},

T
5

o 25, a) el

T
5

(
(

-2 xa ot}

25
7

10
X — Xa

7

7

= x a ©|t}.

10
, 2.5, a> o of], (7) x2.5%Xa
XAZLE —35xa °)1, HEZk

10
7

i)a<0ol2d

2—75><a0]‘:]'.

O
—

a=-4

-3.59xa=14 ..

olB=Z -35x%xa

100
7

xaoli, HRHYS -5 # -

Hgre 2

24.5

100
olBg 4> 0 0] ohch,

kA o = -4 olct,

” 24.5
25 100

98




19. 5x6x7x8x9x10=2%x3"x5x70] Hc} oW, a+b-c 9

® 3 @ 4 s  @s ® 7

5EXO6XTX8XIX10 = 5X(2 X 3)XTX(2X 2 X 2)x(3 x 3)X(2 X 5) =
25 x33x52XTOo| B2 a+b-c=5+3-2=6°[ch




D)2x3x3 @ 22 x52 ® 16

@ 22 x 32 x52 ® 81

® A%t BE 57t ohyBE FA%o] AFo] HA G

Srole,




